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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
6 100kN/m##8% % 1.00{0.00 ~ 1.80 127.71|3m%x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.60 ~ 21.95 127.71| 3m%Ex#B 25 =l ~ - - =
s 1.00{1.80 ~ 9.59 100.00f Zhklst |0.00 ~ 9.59| 247 13.20 s 1.00f 5.00 ~ 11.60 100.00f Z=hkl4t+ | 5.00 ~ 21.95| 2.47 13.20
7 100kN/m##8 %% 1.00{ 0.00 ~ 1.99 130.70| 3m%x#B 25 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 11.24 ~ 21.95 130.70| 3m%x#B 25 =l ~ - - =
s 1.00{1.99 ~ 9.77 100.00f Zh k4t |0.00 ~ 9.77| 2.50 13.40 s 1.00f 500 ~ 11.24 100.00f Zhkl4t | 5.00 ~ 2195/ 2.50 13.40
8 100kN/m##8 %% 1.00{ 0.00 ~ 042 106.23| 3m%x#B2x 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.71 ~ 11.95 106.23| 3m%x#B 25 =l ~ - - =
s 1.00]042 ~ 8.21 100.00f Zh k4t |0.00 ~ 8.21] 2.10 11.23 s 1.00f 500 ~ 10.71 100.00f Z=hl4t | 5.00 ~ 1195 2.10 11.23
9 100kN/m##8 %% 1.00| 0.00 ~ 0.51 107.55|3m%*x#B2x 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.53 ~ 11.95 107.55| 3m%x#B 25 =l ~ - - =
s 1.00{0.51 ~ 8.29 100.00f Z=hki4t | 0.00 ~ 8.29| 2.18 11.68 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 1195 2.18 11.68
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
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